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Attempt all questions. Distribution of marks is given against each Question.

Word limit for each Answer is 250-300 words.

iz'u 1- vf/kdre lkekftd ykHk ds fl)kUr dh vkykspukRed O;k[;k dhft,A  ¼17½

Critically examine the principle of maximum social advantage.

iz'u 2- lkoZtfud O;; ds fofHkUu fl)kUrksa dh O;k[;k dhft,A    ¼17½

Explain the various canons of public expenditure.

iz'u 3- rqyukRed ykxr fl)kUr dh vkykspukRed O;k[;k dhft,A     ¼17½

Critically explain the comparative cost theory.

iz'u 4- Hkqxrku larqyu D;k gS\ Hkqxrku larqyu dh vlkekurk esa lq/kkj ds mik;    ¼17½

fyf[k,A

What is balance of payment? Write the measures to correct disquilibrium in

balance of payment.

iz'u 5-  Ø; 'kfDr lerk fl)kUr dh vkykspukRed O;k[;k dhft,A    ¼17½

Explain critically the theory of purchasing power parity.
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